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6-2-4 (8¢

1. [sH4]
wyle] gyot gome
4x2x3.14=25.12(cm)

[FH]
1H:2, 2891:25.12

2. [aHM]

(AA ] Hlo)=CF=)x(MZ)o] iz, A
Ao Az d7]FY Folst #5Y
.

= (4x2x3.14)x9=25.12x9=226.08(cm?)

[FH]
226.08 c

3. [a4d]

(971%2] Fwlol)

=(3F o] Ho)x2+(PH 9 Hol)o] =
2 (4%4%3.14)X2+(4%x2%x3.14)x9
=100.48+226.08=326.56(cm’)

[FH]
326.56 cnt

4. [sH4A]
7f2E Fo0=2 3 IHAAE 18 YT

12
7Tcm .

s

ol Ul
3L ¢H

(Bylol)=(3F A 2] & o])x2+( °])
=(7TX7%x3.14)X2+(7x2%3.14x12)
=307.72+527.52

=835.24(cm?)
(F-3)=(g W] yo)x(Fel)

e

) AJISCZH0I2AF1

=3

=(7x7x3.14)x 12=1846.32(cm°)

[EE]
1%¥:835.24 o, 2H:1846.32 cnf

5. [afd]

e el ol AT

-32cem.

10 cm -

(%

12 cm

SEEEES
10x10x3.14x32=10048(cm’)
 Lpe] 3
10x10x3.14x 12+ 2=1884(cm”)
el Jhsh Lo R0 g
10048+1884=11932(cm”)
U},
[HE
11932 cnf

6. [s14d]
7} ¢ (8x8%3.14)x15=3014.4(cm®),
1} 1 (5%5x%3.14)x35=2747.5(cm®)

[MEH]

7FES

7. [8iM]

(Z9 §3))

=759 W Ho)x(&9] =ol)

=(6x6x3.14)x3=339.12(cm")

=R EN



& b-2-4 (Bod) #J52l250 %=1l
[ZE] 10x3.14x5+4x3.14x5
339.12 cm —157+62.8=219.8(cm)
8. [alA] ek Aol
(B9 #3)) 65.94%24219.8=351.68(cm?)

=(7] 59 g U] Yo)x(&F2 #9])
=(7x7x3.14)x3=461.58(cm")

[FH]
461.58 cn

(=4 Azo)e] Hol)

=(3F U 2] Blo])x2 =(4x4x3.14)x2
=100.48(cm?)

1019 wel)

= 351.68—100.48=251.2(cm?)

[&EH

251.2 cnf

10. [Ad]

5w o] Wol7} 50.24 cm’o] B2 o]
351.68-+50.24=7(cm)<] 1] t}.

[&EH

7 cm

sk o] Yol =
5x5x3.14—2x2x3.14
=78.5—12.56=65.94(cm?)

[ERE] i
Ayl

[HE]
351.68cr

. [aAd]
osuq/] Wol=2 1t}
8X2x3.14x15=753.6(cm )

[HE]
753.6 ot

13. [slA]

(A7]152] F3)=(3 "AH| Ho])x(xo])
olmZ

(Fo)=(¥7]s2 F3)+(3 2
At
326.56+(4x4x3.14)=326.56+50.24=6.5(m)

EEER)

[ e

6.5

14, [3fA]

(5x5%3.14)x 2-+(5% 2x3.14x 18)=157+565.2
=722.2(cm?)

[&E]
722.2 cnf

. [al4Ad]
ﬂmﬁA 1017}
5x5x3.14=78.5(cm )
ojmz drel Yol
376.8—(78.5%2)=376.8—157=219.8(cm”)

Ut} Hepa %ol [ cme} ok
5x2x3.14x[1=219.8,



6-2-4 (=) KAJ|SoZE0|2A21] )
[1=219.8+3.14+5=2 20. [sf4d]
=70+5+2 (JA = o] H-3])
—14=2 =(¥7]F9] F1)
—7 =7x7x3.14x16=2461.76(cm”)
(= e el
7 em 2461.76 cr
16. [814] 21 lohe]
O] Bojo} & Zo] o]} A el WHe] WX E2 8 cem, Fol=
105—40=65(cm) 5cemYHH,
o| R T Fofof 3 Zeo] e (@)
(30%30%3.14) X 65=2826X65 =(3 2W 9] wex2+(dre] Hol)
5 =((8%8x3.14)x2}+(8x2x3.14X5)
—=183690(cm”) = 183.69 L
=401.92+251.2
[MEH =653.12(cm?)
183.69 L
[& g
17. [sA] 653.12 onf
3014.4+(8x8x3.14)=3014.4=200.96=15(cm)
22. [8fAd]
[& g (8%8x3.14x10)—(6x6x3.14x 10)
15 =2009.6—1130.4
8. (8141 =879.2(cm’”)
]:11—:]]?5'_%]. %52] E'_]_‘Z]%O] 7cm, %017]’ 16 cm Esl=3
¢l Y750 e F Yt} 879.2 o
[& g 23, [844d]
2171 %
A7 9x9x3.14x20+2=2543.4(cm”)
19. [sfA]
(FAE=F e Aylo]) eE
- 2543.4 o
=(47]% ] 2yl
=(7X7x3.14)x2+7x2%x3.14%x16 24. [8lM]
2
=307.72+703.36=1011.08(cm") 7% A< %1{% H4Fo] So] glom
[&EH 2 FQ3t 7hge] e
1011.08 cur 6><6><3.14><20><%=113O.4(cm3)
..................................................................................................................................................... aEEE



I——
¢ 6-2-4 (2cid) Bol=olamole] D)

[HE]
1130.4 e

25. [aliA]

st o] Hol=

6X6x3.14+2=56.52(cm?)

Awe] Yol (Ao Ee)x(3o])ol =

2 (12x3.14+2+12)x24=30.84x24

=740.16(cm?)

kA HE o)

56.52x2+740.16=113.04+740.16
=853.2(cm?)

[FH]
853.2 cn




